Volumes of Solids
Volumes B?/ Discs & Washers
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e.g.(i) Find the volume generated when the area between y = 4 — x? and
the x axis is rotated about the x axis
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(ii) Find the volume generated when the area enclosed by y = 4 — x* and
y = 3is rotated about the line y =3
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(iii ) The area between the curves y = x* and x = y* is rotated
about the line y axis. Find the volume generated.
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The shaded region is bounded by the linesx=1,y=1andy =-1 and
the curve X+Yy* =0. The region is rotated through 360° about the line
X = 4 to form a solid.

When the region is rotated, the line segment S at height y sweeps out
an annulus.
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a) Show that the area of the annulus at height y is equal to 7z(y4 +8y° + 7)
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b) Hence find the volume of the solid.

AV = r(y* +8y? +7)- Ay
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